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QUESTION 1

Which type of constraint can be used to tell the DB2 Optimizer that a parent-child relationship exists between two tables,
but that the relationship is not enforced?

A. Check

B. Unique

C. Referential
D. Informational

Correct Answer: D

QUESTION 2

When is it appropriate to use a sequence?

A. When you want to control the order in which triggers are fired.

B. When you want to control the order in which stored procedures can be invoked.

C. When you want to automatically generate a numeric value that is not tied to any specific column or table.
D. When you want to automatically generate a numeric value for each row that is added to a specific table.

Correct Answer: C

QUESTION 3

Which tool allows users to connect to a DB2 database using a wizard?
A. Control Center

B. IBM Data Studio

C. Universal Connection Expert

D. DB2 Connection Pool Manager

Correct Answer: B

QUESTION 4
Which action needs to be performed in order to complete the definition of an application-period temporal table?

A. A transaction-start-id column must be defined for the table.
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B. A history table must be defined and associated with the base table.
C. ABUSINESS_TIME period must be specified in a CREATE or ALTER of the table.

D. A unique index must be created that prevents overlapping of the BUSINESS_TIME period of the table.

Correct Answer: C

QUESTION 5

Given the following statements:

CREATE TABLE employvee (empid INTEGER, info XML,
INSERT INTC employvee WALUES (1,
employeeinfo=
<name=Joe smith</name=
<department name="DB2"=
zteam=Development</team:=

<fdepartment=
</Bmployeeinfo=");

If the following <Cluery statement is executed:

RAUERY

for $info in db2-inxmlcolumn{' EMPLOYEE INFO'Yemployeeinfo
return $info/name

What will be the result?
A. Joe Smith

B. Joe Smith

C. Joe Smith>DB2

D. Joe Smith

Correct Answer: B
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